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0.1

Anabaena  spp.

Anabaena macrospora

0.1

Chroococcus spp.

Merismopedia spp.

Microcystis spp.

Phormidium spp.
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200

Achnanthes  spp.
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Amphora spp.

Asterionella spp.

Aulacoseria spp.

Bacillaris spp.

Cocconeis spp.
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Cyclotella spp.

Cymatopleura spp.

Cymbella spp.
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Diatoma spp.
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Diploneis spp.

Fragilaria spp.
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Frustulia spp.
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Gyrosigma spp.

Welosira spp.
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Navicula spp.
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Neidium spp.

Nitzschia acicularis

Nitzschia spp.

40

52
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Pinnularia spp.
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Rhoicosphenia spp.

Rhopalodia spp.

Tabellaria spp.

Skeletonema spp.

Surirella spp.

Synedra acus

Synedra ulna

Synedra  spp.

26

Urosolenia spp.
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Chlamydomonas — spp.
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Chlorogonium spp.

Chloromonas spp.
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Closterium spp.

Cosmarium spp.

Crucugenia spp.

Elakatothrix spp.

Gloeocystis spp.

Mougeotia spp.

Oocystis spp.
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Schroederia spp.

Spondylosium spp.

Sphaerocystis spp.

Staurastrum spp.
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Pediastrum spp.
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Chroococcus spp.

Oscillatoria spp.
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Amphora spp.

Achnanthes spp.

Aulacoseira spp.

Cocconeis spp.

Cyclotella spp.
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Diatoma spp.

Fragilaria spp.
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Welosira spp.
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Nitzschia spp.
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Synedra spp.

Surirella spp.
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